
SINCE 1989

MADE IN USA

®

.017”/0.42mm Round Corner Carpet Blade

Left Blade Hold Down

Right Blade Hold Down

3/16” Flat Washer

3/16” Flat Washer

3/16” Neoprene Washer

3/16” Neoprene Washer

3/16” Flat Washer

3/4” Coupling Nut

Bottom Frame Cavity

5/16” External Lock Washer

Heel Adjustor

.017”/0.42mm Round Corner Carpet Blade

10-24 X ¾” Phillips Head Machine Screw

10-24 X 1” Phillips Head Machine Screw

10-24 X 1” Phillips Head Machine Screw

Top Frame Cavity

10-12 x 1-1/4" Phillips Head Sheet Metal Screw

1/4-20X1” Phillips Head Machine Screw

EXPLODED VIEW and ASSEMBLY

®

WALL TRIMMER

Aggressive side 
towards J-Nut

Aggressive side 
Against Plastic


